MODELS |24 GA SHORT| 27 GA SHORT |27 GA FLUSH| 27 GA LONG | pone megHT | OF SNAP LATCH ENGAGES e B i REV DATE DESCRIPTION
SECTIONS o o B LOCK ENGAGES STILE
CLOPAY | 4400, 4401 | 4300, HDG | 4301, HDGF | 4310, HDGL [~=—TF 5o - ONE SNIE LATCHON  STLE mé@?‘ 7 | 6/2005 UPDATED CODE REF.
HOLMES - 66, 66G, 6200 | 68, 6201 (67, 67G, 6203} 7’3" TO 80 5 545 gﬂx OUTSIDE 8 | 9/2005 ADDED ROLLER OPTION
8’3 10O B'9* S OUTSIDE KEYED END HANDLE
IDEAL = SP200 SF200 P L 21 _— g [ 11/30/07 |ADDED EXTENDED HEIGHTS AND COMBINED CLOPAY AND HOLMES M/N
10'9” T 3 INSIDE HANDLE 10CK OPTION ENGAGES IN 10| 05/12/08 ADDED MPC INFO AND HDGF, 66G, 67G
EQUVALENT SECTION CONSIRUCTION: FOR ANY OF THE MODELS LISTED gt & g oo oo ) ¢ TRACK O
ON THIS DRAWING, THE FOLLOWING W—LEVEL DOORS USE EQUIVALENT TR :;,9, 5 = _______2__TH'°K i ACRIH 11| 10/2009 REVISED FOR TDI.
SECTIONS (UP TO THE MAX SILICONE FILLED CHANNEL SEPARATES :
W1 Wai EIRISUCE SOTLAONED ORRILE SRSHRG). 160" | 10 | FRONT AND BACK SKIN OF DDOR 12| 08/2016 REMOVED WIND SPEED TABLE.
’ ; MAX_SECTION HEIGHT: 21"
&";EB%JHfﬁg E’N-DLE;’_F:I::E e SN — N SE R ’/\1 o K, 14 DENSTY 13| 11/23/20 UPDATED TITLE BLOCK AND ADDED COMPLIANCE STATEMENT.
: OPTIONAL SSB OR BETTER GLAZING. i YRy EXPANDED POLYSTYRENE #14x5/8" SHEET
MAX. SIZE IS 42-1/2"x14" (SEE B;Kgo_glh Ple-:é -~ FOAM INSULATION LAMINATED METAL SCREWS
SECTION B—B). SHORT LITES SHOWN. AND A BAKED—ON § e AND
B POLYESTER PAINTED\ - ' o
TOP COAT. 1/47x3/4" SELF
of TAPPING SCREWS
12 GA. GALV. STEEL TOP °
ROLLER BRACKET. EACH
5 i BRACKET _ATTACHED W/(4)
@ SEE INTERMEDIATE = —  #14x5/8" SHEET METAL 14 GA END HINGES 18 GA INTERMEDIATE HINGE
. ' thEh i ik o s 1 1H i HINGE DETAIL SCREWS. VIEW “B" VIEW "C
| i ! i i i NOTE: 14 GA. INTERMEDIATE
[ L\ } | | |/ E— 11 | | SRR {15 ) ISR _J o i —— _{j TONGUE AND GROOVE JOINTS, I(‘INGES bR
= SEE END SKIN DOOR MODELS.)
& s — B 14 GA. GALV. STEEL ROLLER (END) HINGE.
b ! R =" i { INGE DETAIL EACH FASTENED TO END STILES W/(4)
T S 1| | (— i ! | ! 14x5/8" SHEET METAL SCREWS AND THIS PRODUCT COMPLIES WITH THE 2018 1BC/IRC.
& N L: = 4) 1/4"x3/4" SELF TAPPING SCREWS.
8 THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE
o i i Lo S P cons Sl St
3 i it it i Lh| o ! i i TWO POINT_LOCKING SECTION A—A MPACT RESISTANT REGUIREMENT FOR WINDBORNE. DEBRIS
3 £ 2 L ¥ I @ N i e 4 LOCK POSITION FRONT FRAME WITH U.Y. REGIONS (REF. CHAPTER 18 FBC/IBC)
z (BOTH SIDES) COATING ON OUTSIDE SURFACE. -
Tt 3" x 20 GA. GALV. STEEL U—BAR. ONE
[ i [ ! i | / i ! i i PER SECTION, EXCEPT BOTTOM SECTION
i | ! ) ! i | WHICH REQUIRES TWO U—BARS. U—BARS
: ATTACHED W/(2) 1/4°x3/4" SELF
= TAPPING SCREWS PER HINGE LOCATION,
OPTIONAL OUTSIDE KEYED
l LOCK_POSTION. . x y » (Cisegesepron) | 2 NTH A BAKED-ON PRMER
' : Dom-o | AND A BAKED—ON POLYESTER GLAZING
PAINTED TOP COAT. = Seo¥ie ~ Jex1—3/4" PAN
LITE RETAINER OPTIONAL WINDOW LITE HEAD SCREW.
13 GA GALV.THST(EEL 310110/%_BRA<:KEL
IN THE CASE OF GYPSUM WALLBOARD LOCATED AT OR NEAR THE DOOR OPENING ATTACHED WITH (4) #14x5
LOCATION THERE ARE TWO ACCEPTABLE ALTERNATIVES: SHEET METAL SCRgWit' Sl 77—
1) THE WALLBOARD CAN BE CUT AWAY FROM THE DOOR OPENING AND 2X6 SOUTHERN ALUMINUM EXTRUSION NOTE: TRACK CONFIGURATION TRACK
YELLOW PINE WOOD JAMBS MOUNTED DIRECTLY TO THE SUPPORTING STRUCTURE TO & VINYL WEATHERSTRIP. ABOVE THE DOOR OPENING

CREATE THE MOUNTING SURFACE. ALTERNATIVELY, THE BRACKETS MAY BE ATTACHED ngg ggl.'ll.NéFE)EFCTTHTlgEDgg‘Ig

DIRECTLY TO THE SUPPORTING STRUCTURE. SEE DETAIL BELOW. THE CENTER OF T
SCREW HOLE MUST BE AT LEAST %" FROM BOTH EDGES FOR A 5/16" LAG SCREW. AU HEANROUAEIN
2)IF THE WALLBOARD IS NOT CUT AWAY TO EXPOSE THE UNDERLYING STRUCTURE (WOOD
FRAMING MEMBERS), A 2X6 SOUTHERN YELLOW PINE WOOD BUCK OVER SHALL BE R INSTALLER (TO SUIT) HORIZONTAL TRACK SUPPORT BY
INSTALLED THE WALLBOARD FRAMING THE OPENING USING THE JAMB ATTACHMENT / , DOOR INSTALLER (TO' SU)
FASTENERS LISTED BELOW. HOWEVER, THE JAMB ATTACHMENT FASTENERS MUST BE OF (ESDGQ:TI&ASLVI.-IESLBEEI;-Y ERI%G%T'EERWS) DOORS OVER B’ TALL
11 1

STOP MOULDING BY DOOR HORIZONTAL TRACK SUPPORT BY
" DOOR INSTALLER (TO SUIT)\{

8' TALL DOORS AND UNDER

A SUFFICIENT INCREASED LENGTH TO ACCOUNT FOR THE THICKNESS OF THE
WALLBOARD TO ENSURE PROPER FASTENER EMBEDMENT INTO THE STRUCTURAL 2x6 YELLOW PINE JAMB

13 GA. GALV. STEEL FLAG BRACKET.

FRAMING MEMBERS OF THE SUPPORTING STRUCTURE. 'f EACH FASTENED TO WOOD JAMB WITH 13 GA. GALV. STEEL FLAG BRACKET.
—1/2* FROM EDGE 12 GA. GALV. STEEL TRACK W (3) 5/16"x1-5/8" LAG SCREWS. EACH FASTENED TO WOOD JAMB WITH
- , &EMKWEI'H stgagz?sjo WO%D 2 GALV. STEEL TRACK (3) 5/16°x1-5/8" WOOD LAG SCREWS.
\ : Wi 1-5/8" d g
WOOD LAG SCREW PER é‘mé’n 18 GA. GALV. HINGE. EACH HINGE 2o TRACK THICKNESS: .060" MIN. i
. FASTENED TO SKIN WITH (4) #14x5/8° & R TYP. 2-1/2%12 GA. GALV. STEEL TRACK BRACKET. &
™ FASTENED. T0 TRACK. BRACKETS, SHEET METAL SCREWS. SEE VIEW 'C". = E%T'm'“*’cx BRACKETS Pen SIBE (Up 10,12 EIEL:}; <
. ] EACH BRACKET ATTACHED WITH ONE 14 GA. GALV. ROLLER HINGE. EACH HINGE FASTENED TO & 1L~ DISTANGE BETWEEN FLAG AND TOP TRACK BRACK § i ol P
1/4"x5/8" BOLT & NUT OR END STILES WITH (4) #14x5/8" SHEET METAL SCREWS AND § NOT TO EXCEED 30" O.C. 8 H T
TWO 1/4" RIVETS. (4) 1/4"x3/4" SELF TAPPING SCREWS. SEE VIEW "B". ] S 00R | .- i 2° GALV. STEEL TRACK, 76
JAMB CONFIGURATION -2, 10 BALL SHORT STEM STEEL ROLLER WITH (TYP) HRET o MIN. TRACK THICKNESS: .060
STEEL OR NYLON TIRE. z | i & 88
PREPARATION OF JAMES BY OTHERS. SECHoN C=C 8 | 1 7
= | [ P H6 L. For DOORS OVER ; TYP. 2-1/2"12 GA. GALV. STEEL TRACK BRACKET.
= . o T iee F4
VERTICA 5 ATTAC s % (Ta\"P) ]l.}’ L 124 12'=0" HIGH, TRACK z (4) TRACK BRACKETS PER SIDE.
3,’\3"?5" éSﬁGESESﬁKO&j#'NcmERS- 1')1/8" 0.D. WASHER REQUIRED. LAG SCREWS 3 e e tD. MAXMUM SPACNG &
OT REQUIRED) TO PROVIDE A FLUSH MOUNTING SURFACE. Tt -1/2¢ | 3307 | 146" |PROVIDED. CONSULT FACTORY i
HORIZONTAL JAMBS DO NOT TRANSFER LOAD. NOTE: THE DESIGN OF THE 3-1/2 - .
SUPPORTING STRUCTURAL ELEMENTS Y Sy O MORE. DETAL IF ROD.
_— _oD BLOCK OR 2.0 N. CONGRETE GOLUNN): SHALL BE THE RESPONSIBILITY OF Cie e
%@HXSRSS#JE%DSSCS#E SRLITACN 0% SEMERS (2,000 PSI MIN. CONCRETE). T EE&BESS'O§QL§{U§$S€§%?R s e HEADROOM AVAILABLE, DESIGN LOADS: +25.5 PSF & —25.5 PSF
OR : IN ACCORDANCE WITH CURRENT W TEST LOADS: +38.0 PSF & —38.0 PSF
1/4"x3" TAPCON SCREWS ON 17" CENTERS (2,000 PSI MIN. CONCRETE) OR 9" E,‘;'TLE[',"%NC‘T’EESDE%.JS.E LOADS
CENTERS (C-90 BLOCK), 1" 0.D. WASHERS REQUIRED WITH TAPCONS. MANUFACTURING PRODUCT CODE WINDLOAD RATING MAX, SIZE
ANCHORS MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING - MPC: DSIE—1F171 W 4 16'0" x 16'0"
SURFACE. HORIZONTAL JAMBS DO NOT TRANSFER LOAD. - opay DATE! 2
o - O 6/14/95 DESCRIPTION' WINDLOAD MODELS
OTHER JAMB_CONFIGURATIONS: REFER TO DASMA TDS—161. A LICENSED DESIGN DESIGN ENGINEER: MARK’ wesTERRIELD, P.E{|CORPORATION 8585 DUKE BLVD. [hoaun By: 4400, 4401, 4310, HDG, HDGL, 4300, 4301
PROFESSIONAL MAY ALSO BE ; ERRIELD, £k MASON, OH 45040 MWW , ' ' ' ) '
RECEES CHIE ML EMPLOYED TO APPROVE ALTERNATE FASTENERS AND/OR FLORIDA P.E. #48485, ... (513) 770—4800 YT e
i NC P.E. #23832, CHECKED BY: B 01481
TEXAS P.E. §91513 Clopoy Corporation All Rights Reserved. 101 TDI




